


• 3𝜎

𝑅 𝐷 ∗ =
𝐵(𝐵→𝐷 ∗ 𝜏𝜈)

𝐵(𝐵→𝐷 ∗ ℓ𝜈)
𝑅 𝐾 =

𝐵(𝐵→𝐾𝑒𝑒)

𝐵(𝐵→𝐾𝜇𝜇)

•





𝑹(𝑿𝒆/𝝁)

•

• 𝑂(10 000)

•

•

• 𝑋ℓ𝜈 10 𝑝ℓ
•

𝐵+

𝐵−

𝐷0

𝜋

𝜋

𝜈

ℓ+

𝑋
𝐾

𝜋

𝑒+

𝑒−

𝜋

Υ(4𝑆) 𝑒 𝜇



𝑹(𝑿𝒆/𝝁)

𝑅 𝑋 Τ𝑒 𝜇 =
𝐵(𝐵 → 𝑋𝑒𝜈)

𝐵(𝐵 → 𝑋𝜇𝜈)
=

𝜖𝑋𝜇𝜈𝑁𝑋𝑒𝜈

𝜖𝑋𝑒𝜈𝑁𝑋𝜇𝜈

𝑹 𝑿 Τ𝒆 𝝁
𝒑ℓ
∗>𝟏.𝟑𝐆𝐞𝐕

= 𝟏. 𝟎𝟑𝟑 ± 𝟎. 𝟎𝟏𝟎𝐬𝐭𝐚𝐭. ± 𝟎. 𝟎𝟐𝟎𝐬𝐲𝐬𝐭.

•

• 1.2𝜎

• 𝑅(𝐷 Τ𝒆 𝝁
∗ ) 0.6𝜎

•

𝑒 𝜇



•

• ⇒ 1.0

Ο 0.1 − 2%

•

•

𝒆+ 𝝁+



𝑹 𝑫 ,𝑹 𝑫∗ , 𝑹(𝑿)

• 𝑅(𝐷) 𝑅 𝐷∗ 4% 𝑅 𝐷∗ , 6% 𝑅(𝐷)
5ab−1.

• 𝑅 𝑋 .
424 fb−1

•





𝑹(𝑲(∗))
• 𝐵 → 𝐾∗(892)ℓℓ

𝐵0 → 𝐾∗0 𝐾+𝜋− ℓℓ
𝐵+ → 𝐾∗+ 𝐾+𝜋0, 𝐾𝑠

0𝜋+ ℓℓ

• 𝐵𝐵

• 𝑀𝑏𝑐 , Δ𝐸

• 𝑞2

𝐽/𝜓 𝜓(2𝑆)

•

𝑀bc = 𝐸beam
2 − 𝑝𝐵

∗ 2 Δ𝐸 = 𝐸𝐵
∗ − 𝐸beam

𝐵 → 𝐾∗𝑒𝑒 22 ± 6 1.42 ± 0.48 ± 0.09 1.19 ± 0.20

𝐵 → 𝐾∗𝜇𝜇 18 ± 6 1.19 ± 0.31−0.07
+0.08 1.06 ± 0.09

𝒆𝒆

𝝁𝝁



𝑹(𝑲(∗)): 𝑹𝑲( Τ𝑱 𝝍)

• 𝑅𝐾 Τ𝐽 𝜓 =
𝐵(𝐵→𝐾 Τ𝐽 𝜓 →𝑒𝑒 )

𝐵(𝐵→𝐾 Τ𝐽 𝜓 →𝜇𝜇 )

•

𝑅 𝐾 .

•

• Τ𝐽 𝜓

• 𝑀𝑏𝑐 , Δ𝐸

• Τ𝐽 𝜓

𝑅𝐾+( Τ𝐽 𝜓 1.009 ± 0.022 ± 0.008

𝑅𝐾𝑆
0( Τ𝐽 𝜓 1.042 ± 0.042 ± 0.008

𝑀bc = 𝐸beam
2 − 𝑝𝐵

∗ 2

𝒆𝒆 𝝁𝝁



𝑹(𝑲(∗))

•

• 𝑅 𝐾 ∗

ab−1.





𝝉

• 𝐵
𝜏

• 𝜎 Υ 4𝑆 = 1.05nb
𝜎 𝜏𝜏 = 0.92nb

• ~1 𝜏 fb−1

•

•



𝝉 → ℓ𝜶

50ab−1

•

• m𝛼 ∈ [0.1 − 1.6]GeV
476 pb−1)

• 𝐵 𝜏 → ℓ𝛼 ∝ ൗ1 𝑓𝑎
2



𝝉 → ℓ𝜶

•

•

• 𝜏+ → 𝜋+𝜋+𝜋−𝜈

• 𝛾, 𝜋0

• 𝑞ത𝑞, ℓℓ, ℓℓℓℓ, ℓℓℎℎ, 𝜏 → ℎ𝜈)
𝜏 → ℓ𝜈 ҧ𝜈

• 𝜏
𝐸𝜏 = 𝑠/2 Ƹ𝑝𝜏 = − Ƹ𝑝3𝜋 ℓ = 𝑒

2𝐸ℓ
𝜏

𝑚𝜏



𝝉+ → ℓ+𝜶

•

• 62.8fb−1

• 2.2 14 𝑚𝛼 ℓ



•

• 𝑅 𝑋𝑒/𝜇
• 𝐵 → 𝐾∗ℓℓ

• 𝐵 → 𝐾 𝐽/𝜓

• 𝜏 → ℓ𝛼

• →

• 𝑅 𝐷 ∗ , 𝑅(𝑋)

• 𝑅 𝐾 ∗ .

• 𝜏
50ab−1.

⇒ 𝑅(𝑋)

⇒ 𝑅(𝐾(∗))

⇒





•

• 4.65 × 1034cm−2s−1

•

•

• 4𝜋

•



•

• 424 fb−1

• 363 fb−1 𝑠 = 𝑚Υ(4𝑆) = 10.58GeV
• 42 fb−1 10.52GeV
• 19 fb−1 10.75GeV

• (550fb−1)
1ab−1)


